20504 20

f=iferRea w wfdra fewoft foa—
(31) TR DY
@) ucd faegcdiavor gormell
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Write short notes on the following:
(a) Flood lighting

(b) Single phase induction motor

fr=ifarRaa w wfdra fewoft foa—
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Time : 3Hrs. Sem. V/E E
UEE
Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question

carries 4 marks.
9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol @ SR <, TAS UeT &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |

P.T.O
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10.

Why series motors are ideal for DC or AC traction?
What are the main requirements traction motor
with regards to electrical and mechanical features?

Explain it.

gofi Arex odlo AT Yoo FHHUT 3G FAT
el AT Srdn = ? fageiha qen arfer

faelvdaRi & AER W b YT & forg

A IATATISAIB BT qui PN |

A 30 KW, 3-¢,400V resistance oven is to employ
nickel chrome strip 0.25 mm thick for three star
connected heating elements. If the element
temperature is to be 1100°C and that of charge to be
700°C, Estimate a suitable width fo strip.

Assume that emissivity = 0.9,Radiating efficiency
=0.5 and resistivity of the strip material is

101.6 x 10°Q m 8

U®h 30 faeliare, rwdr, 400V uforier w€) #
0.25 faefifier Mierd &1 Ao Hia gl &=
YR Gaifoa dma ufed~ & %y d o 2
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frr=rfearfRea = fafer 4 4 19 fag@
amgff @Y IRFAERar w v T -
(31) uRTdea dru=

(d) 9=vor amue

(\) fagga yfaxie qmu=

(%) SuIqad g+

The electrode of direct arc furnace is made of
(a) Graphite

(b) Tungsten

(c) Copper

(d) Silver

JIeT ATh HY) BT SAISTS oo BT
9T BlaT 2—

(31) dwrge

(@) e

(&) qrer

(=) ardl

In the indirect resistance heating method
maximum heat transfer takes place by........
(a) Convection

(b) Conduction

(c) Radiation

(d) None of these

P.T.O
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GROUPC

Answer all Five Questions.

i uig gl @ SR © 8x5 =40

7.

What are the various types of induction furnaces?

Describe one of them with neat diagram.

9vor 9g) @ a1 yeR @19 & 27
54 O fodl ve & W g & e
qufq &Y |

OR (3121a1)

Explain resistance heating . Describe the
construction and working of resistance heating

oven with neat diagram.

gfeRIg arae &1 au=my | yfiRiy drue 98
@I 991d¢ Ud ®rd fafer &1 9vfq w@=s fa=
D a1 B |

What are the various methods of resistance welding?

Describe any two of them with neat diagrams 8

0T5026

(vi)

(vii)

(vii)

(viii)

5 20504

afesw <figw # grar 8—
(31) S=a aRT gdrgd &HdT
() S=a erdierad

(®) <1 (31) wE (@)

(®) 379 9 »ig el

Electric resistance seam welding uses ........
electrodes.

(a) Disc type

(b) Pointed

(c) Flat

(d) Domed type

faera ufomre drr dafesT . EREA
BT SYYIT BT 2 |

(31) aFbTg

(@) gprem

(@) =ikE

() Tegm

During resistance welding, heat produced at
the joints is proportional to.............

(a) Current

(b) Voltage

(c) Volt-Amperes

(d) I°’R

P.T.O
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4. Explain coefficient of utilization and waste light x) fr=faRag o9 4 9 319 9d) 27
factor. ) (@1 yeTer faga ol &1 (& w9 &
_ (d) UBIA ST Holl BT UH ©Y &
B"T!ﬁﬁl?ﬂ o qAT A Y1 [uidh Bl (@) warer e qraaa axr &
ST | (?) yarer #§ g AT HT T
OR(3reran) (xi)  Power factor is highest in case of..............
(a) In candescent lamp
What are the general principles used in the design (b) Sodium vapour lamp
of street lighting? Explain it. (¢) Mercury vapour lamp
(d) None of these
Tl UHRE & Ao q i G fagia
ST SYANT fHAT ST 2?7 D ARAT B | i) wrfed ONE @I TN A Ioaaq o
(31) SdIw ¥
5. Describe the working principle of shaded pole (3) aifsaw arwg v
motor and give its uses. s (¥) R a7 A
(?) 9 4 ®Ig T

dSs Uld Ale’ & &l Rigld &1 auia &
v $H® guar el Al | (xii)  Carbon Arc lamps are commonly used in.......
(a) Domestic lighting
OR(3721dT) (b) Street lighting
(c) Cinema projector
Explain Rheostatic braking applied in D.C. motor. (d) Photography

P.T.O
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(xx)  Udel bl YATadd! SIRT YUTTefl e}
fagrhavor 2g 1 smgfRy aisha @
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GROUPB

Answer all Five Questions.

g 9fg yo N & SR o

5x4=20

2. What are the advantages of electric heating over
other methods of heating? Explain it. 4

0T5026
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(31) 3B ({oﬁo, 1% Qo\“ﬁo
(El) 1Bl Qo'\':ﬁo, 31'55[ Qoﬁo
(@) 3Bul Yoidlo, Slodlo
(]) 1%% Yodlo, Slodlo

During Rheostatic braking of a D.C motor
(a) Its field is disconnected from the supply
(b) Its armature is reverse connected

(c) It works as a D.C. generator

(d) Direction of field current is reversed.

Ueh faseyRT AR & gyfoRigs gaxied

D SXHIT—

(31) 3u®T & < 4 srwaifya fad
SId ©

(@) @1 A =R Seer gAIfoa fed
SId ©

(@) ug fosearT s @& or ot
AT B

(?) &= arT & faen Seer fear S«r @

Speed control of D.C . series motor is done
by changing..........
(a) Supply voltage
(b) Diverter resistance
(c) Field topping
(d) All of the above
P.T.O
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